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]

Lad

T

A, = |cosa —151'1_10'. A= ::}:5[5 —5|f:[5 _
o) ™ | singe coso i | sinf cosp
Which one of the following is correct 7

(a) ‘d"l— ) AI— B = ‘dHu +4)

(b) ‘d"l— HJAIHJ: ‘d‘ﬂ!-— )

(e} 'd‘|c1p+A1— |1:|=‘a‘:—||1 - a)}

(dy A +A

fa) | |i:= A

(o + )

|+'_-:in3 X L'l‘.l.‘iz X 45 2x
If fix)= sin®x  l+cos”x  4dsin2x
sin: X L'I.‘.l.‘iz x  l+4sn2x
What 15 the maximum value of £{x) ?
{a) 2 by 4
(c) 6 (dy 8
cosB sin@ 0
Ifthe matrix | sin® cos@ 0| issingular, then what is one
0 0 |

of the values of 6 7

T by =
(a) 2 ( 5
(c) = d 0

For what values of k, does the system of linear equations
xty+z=22x+y—z=33x+2y+kz=4

have a unigue solution ?

(a) k=0 (by —1<k=1

() —2<k=<2 (d) k=0

Leta=|! O lanap=|' X
0 -1 01

IfAB = BA, then what 1s the value of x 7
fa) -1 (by 0
(c) 1 {d) Anyreal number

If a matrix B is obtained from a square matrix A by
interchanging any two of its rows, then what is | A+ B| equal
to

(@) 2]A| (b) 2|B|
(c) O (dy |Al-|B|
LL‘tA={=|“‘,|nxnandadjﬁu={:ln}

1 2 3
IfA = |:’-1 5 4 1_, what 15 the value of o5 7
7 3 )

fa) 1 by -1

(c) & (dy -8

Let A and B be two invertible square matrices each of order n.
What 15 ad) (AB) equal to?

(a) (ad)A)(ad)B) (b) (ad)A)+ (ad) B)

{c) (ad) A)—(ad; B) (d) (ad)B) (adjA)

M 15 a matrix with real entries given by

4 k 0
M=|6 3 0
2t k

Which of the following conditions guarantee the invertibility
of M?
L k=2 2 k=0

A

i t=0 4 t=1

10.

13.

14.

16

Select the correct answer using the code given below
(a) land2 (by 2and3
(¢} landd4 (d)y 3andd

1 11
LetA= \‘: t ﬂ be a square matrix of order 3. Then for any
positive integer n, what 15 A" equal to 7
a) A (b)y 3"A
© (" Ha () 3A
Let A and B be two matriees such that AB 15 defined. IFAB =0,
then which one of the following can be definitely concluded ?
(@) A=0orB=10
(b) A=0andB=0
(c) Aand B are non-zero square matrices
(d) A and B cannot both be non-singular
If Ais a matrix of order p = gand B is a matrix of order
s * t, under which one of the following conditions does
ABexist ?
(a) p=t
© q=t

(b p=s
@ q=s

If A 1s a square matrix such that A — AT=0, then which
one of the following is correct ?

(a) A mustbeanull matrix

(b) A must be a unit matrix

(c) A mustbe ascalar matrix

(d) MNone of the above

What is the largest value of a third order determinant
whose elements are O or 17

(a) 0 by 1

e) 2 d 3

) l+1  1+1
What 15 the inverse of A= i 7
—-1+1 1-1

If1=i —1-i NI
@ 7o 14 ® i 1o
(© 1 ]+i_ l—:: @ 1 l+i. l—j_
4| =1-1 I+i 4[-1-1 -1+i

In respect of the equation

: GH

correctly match List I with List IT and select the correct
answer using the code given below the lists:

ListI List 1T
(Value of ) (Nature of the Equation)
A S l.  The equation has no
solution
B 10 2 The equation has a
unigque solution
C 15 3 Theequation has an infinite

set of solutions

4 The equation has two infi
nite sets of independent
solutions
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17.

18.

20.

2L

Code:
A
a) 4
by 1
) 2
d 4

1
IfA=
L

(a) 2

(c) E

— a1

2

Lad o e s

ib)

(d)

-2
], what 15 det (A) 7

-2
1

2

From the matrix equation AB = AC, which one of the
following can be concluded ?

(a)
ib)

B = C for any matrix A
B=C,1fA is singular

(c)

B=C,ifA is non-singular

{d) A=B=Cforanymatrix A

a b c

What is the value of [b ¢ a| ifa’ +b*+F=07

cab
(a) O by 1
{c) 3abe (d) —3ahe

1 2
Ifﬁu=[n 3JmiZXZmﬂtrlxandf{x}=xz—x+2isa

polynomial, then what 15 £{A) ?
@ [1 ?}
I 7
26
(c) [r} J

If A 15 a non-null row matrix with 5 columns and B 15 a non-
null column matrix with 5 rows, how many rows are there
mA=B?
fa) 1

{c) 10

ib) 3
idy 25

DIRECTIONS (()s. 22-23) : The following questions consist af

two statements, one labelled as the Assertion {A)" and the other
as Reason (R)". You are to examine these two statements carefully
and select the answer,

(a)
(b)

(<)
(d)

e

Both A and R are individually true and R 15 the correct
explanation of A

Both A and R are individually true but R 1s not the correct
explanation of A

A 15 true but R is false

Ais false but R s true

Assertion{A): IF A = E jj B= {[]] []]} ,then { A+ B

=A2+B+2AB.
Reason(R): In the above AB=BA

I(EU.‘S . sin ﬂI-‘l

Assertion(A): If =LEU‘SD‘. “HHJ and
B (cosa  coso)
- Lsmu 5ln{1J then AB « 1.

a7,

Reason(R): The product of two matrices can never be equal
to an identity matrix.

1 2 -1 0
. P A=
IfA s any 2 = 2 matrix such Lh“t|:[] 3} I:Er 3:|

then what 15 A equal to?

-5 1 .5 -2
(a) 2 2 (b) 12
-5 2 (5 2
© |2 | @ 12 4

IfAisa 3 * 3 matrix such that | A =_4._ then what 15 A(ad) A)
equal to?

1 0 0 4 0 0
@ D1 0 ib) 040
0 0 1 0 0 4
6 0 0
© 0 16 0
0 0 16

{d) Cannot be determined, as data s insufficient

X oxt 1ex?

IFA=|y }.3 l+y: where x, y, z are distinct what 15 |A]?
zZ 7t 147

(ay 0

(b) xzy—_'l.:x+xyz

() (x=y){y-z)z—x)

(d) xye
Under which of the following condition(s), will the matrix

0 0 g
A=2 5 1| besngular?
8 pp
. g=0
2 p=0
i op=20
Seleet the correct answer using the code given below:
{a) land2 {b) 3 only
(c) land3 (d)y lor3

Consider the following statements:

1. Ifdet A=0, then det ( adj A)=0

2. If A is non- singular, then deti A=y = (det A)!

{a) 1only (b} 2only

{c) Bothland2 (d) Mether | nor 2

Let A be an m = n matrix. Under which one of the following
conditions does A~ exist?

(a) m=nonly (b)) m=nanddetA=0

(¢) m=nanddetA=10 (d) m=n

Let Aand B be two matrices of order n = n. Let A be non-
singular and B be singular. Consider the following:

1. ABissingular

2 ABisnon-singular

3. A'Bis singular

4. A'Bisnon singular
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Which of the above 15/ are correct? ELEE

land 3 (b) 2 and4 only P2 o
a)y an J - . o a) L L () |25 29
{c) 1only (dy 3only =

33

35

37

38

39.

Let A be a square matrix of order n < nwheren =2, Let Bhe
a matrix obtained from A with first and second rows
interchanged. Then which one of the following is correct?
{a) detA=detB (b detA=-—detB

() A=B idy A=-B

What should be the value of k so that the system of linear
equationsx—y+2z=0kx—y+z=0,3x+y-3z=0does not
possess a unigue solution?
(a) 0

(c) 4

by 3
idy 5

1 2
The matrix A= [-; 2J satisfies which one of the following

polynomual equations?
fa) AT+3A+21=0
() A*-3A-21=0

(b) AT+3A-21=0
(d)y AZ-3A+21=0

For how many values of k, will the system of equations
{k+1)x+8y=dkandkx +(k+3)y=3k— |, have an infinite
number of solutions 7
(a) 1

c) 3

(by 2
(d) MNone of the above

For what value of p, is the system of equations
px+(p+ 1P y=(p+2p
px+(p+1)y=p+2

x+y=1
consistent 7
(a) p=0 (b) p=1
€} p=-1 (d) Forallp=1
2x 0 1 0 .
If A= and A-! = , then what 15 the value
X X -1 2
of x?
_1 1
(a) 5 (b) >
fe) 1 (dy 2
LetA=[a.] ., beamatnixand C= |_n:"]mx m e another

matrix where ¢, 15 the cofactor ufau_ Then, what 15 the value
of |[AC|?

@ |A|™! (b) [A™

€ |A m+l (d) Zero

If @ 1s the cube root of unity, then what 1s one root of the
equation

.l ¥
x- —2x —2w"

2 w —m |=07

0 m 1
(a) 1 by -2
c) 2 (d)y

2
2i|._ then what 15 A" equal to ?

Pd bl

IFA=|:

(c)

40,

41.

42,

43,

-22“‘] 23“‘] 21n+1 zln—l
e @ | 241 5204

Ifthe least number of zeroes in a lower triangular matrix 1s 10,
then what is the order of the matrix ?

() 3=3 by 4=4
c) 5x5 (dy 1010

I pq I —p

Ifthe inverseof [0 x O0)s(0 1 0 |then what 13

o 01 o o 1
the value of x7
(a) 1 (b) Zero
1 N |

If AB =|:: |51i| and A =F ﬂ . then what 1s the value of

the determinant of the matrix B 7

a) 4 by -6
1
ic) 1 (d) - 28
The determmant
a+b+c a+hb a
da+3b+2c 3a+2b 2a

10a+6b+3c 6Ga+3b 3a

15 independent of which one of the following?
(a) aandb (h) bandc
c) aandc (d) Allofthese |

1 -2
If x =|:I] 2 ], and l'1sa2 = 2 identity matnix, then ¥N-2x

+ 31 equals to which one of the following 7

a) -1 (b 2X

c) ZX (dy 4X )
Ifthe matrix B 15 the adjoint of the square matrix Aand ais

the value of the determinant of A, then what 15 AB equal to
7

] R
— |1
o (Y
(c) 1 (dy ol
where 115 identity matrix
What 15 the determinant

(a) o

be a a
ca b be | equalto?
ab ¢ o
| a al 1 a? &
2 3
(a |1 b b’ w (PP
I e o 1 & &
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1l a a a al ad
(©) Il b b @ |b B B
l ¢ ¢ e & &3

47 If x* +y* + 27 = 1, then what is the value of
1z -y
-z 1 x |=7
y —-x 1
(@ 0 by 1
e} 2 (d)y 2-2xyz ) .
48 If|A_, |=3and|adjA|=243, whatisthe valueofn?
fa) 4 b}y 5
fc) 6 idy 7 . )
49 Under what condition does A(BC) = (AB) C hold, where A,
B, C are three matrices 7
(a) AB and BC both must exist
(b} Only Ab must exist
(e} OnlyBC must exist
50 If Aus matrix of order 3 = 2 and B 1s matrix of order 2 = 3, then
what 15 | KAB | equal to (where k 15 any scalar quantity)?
(a) k|AB| (b) kIAB|
(€} K°|AB (d) |AB
- -1
5L If [J [}i| [ * }=[_I} then which one of the following
0 7] |-v 2
15 correct 7
(a) x=5y=14 (b) x=-5y=14
(c) x=-5y=-14 (d) x=5v=-14
52 Which one of the following statements 1s correct ? The
system of linear equations,
2x+3y=4and 4x + by="T7, has
(a) no solution
(b) a umigue solution
(¢} exactly 3 solutions
(d)} an infinite number of solutions
53 Suppose the system of equations
ax+byy+ez=d;
a;x + by +esz=d,
axthyrez=d;
has a unique solution (xg, ¥, z,). 1fx, =0, then which one of
the following is correct 7
a, b g d b g
(@ |22 by e |=0 () |92 P2 €2|=0
a; by o3 d; by ¢
d] i 8] d] ﬂ] h]
(¢ |dy a; ey =0 (d) dy a, by (=0
dy a3 o d; ay by
5. [Ifa, b, care in GP, then what 15 the value of
a b a+hb
b c b+c |?

a+b b+c 0

(a) 0 by 1
(c) -1 (d) None of these

55

6l

Ifad) 4 = a
1

ﬂ and gh = 0, then what is the value of

|47|2

fa) 1 by ab

(4] |..-'J¢E (dy Ulab

If { + m +n =0, then the system of equations
—Ix+y+z=1{
x=2y+z=m
x+y—2z=n

has

(a) atnvial solution {(b) no solution

(£} aumque solution id) infinitely many solutions

If{a,/x)+(by)=c, (a)x) + (by¥) = ¢,

a b b g
b, b, «c,

then (x, y) 15 equal to which one of the following?

(@) (As/ALATA)) (b) (A /AL A TA))

(€} (—-AAL-AJA)) () (A TA,L-ATA)

Ll 3 =

A =

sinl(® —cosl0”
What 15 the value of <nB0°  cosBO°
{a) 0 (b) 1
€ -1 (dy 12
2 4 0
If|0 5 16 |=20, then what is the value of p?
00 l+p
{a) 0 (b) 1
ey 2 (dy 5

If 4 and B are two matrices such that A8 = 4 and B4 =B,
then which one of the following is correct?

(a) (ATY=4T by (47¥=8"

() (AT =("y?! (d) None of the above

3 |
;i| A= L} I J, then what 15 the matrix A7
22
(b) [n 2}

| 4
@ 1y

Under which one of the following condition does the system
of equations

kx+y+z=k-1
x+hky+tz=k-1
x+ythz=k-1
have no solution ?
(a) k=1 by k= -2
) k=lork=-2 (dy k=-2
[I 2} [a DJ
Let 4= and B = where a, b are natural
i 4 0 b

numbers, then which one of the following is correct?

{a) Thereexist more than one but finite number of 85 such
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(b)
(c)
(d)

67

68,

340
Consider a matrix M =|2 1 0|and the following
31k
statements .
Statement A : Inverse of M exists.
Statement B: &£ =0
Which one of the following in respect of the above matrix
and statement 15 correct?
{a) Aimphes B, but B does not imply A
(b) Bimplies A, but A does not imply B
(c) Neither A implies B nor B implies A
(d) Aaimplies B as well as B implies A
¥ x y+=z
If |z ¥ x+y=0, then which one of the following is
X z z+x
correct?
(a) Eitherx+y=zorx=y
(b} Eitherx+y=—-zorx=:
() Eitherx+:z=yorz=y
(d) Eitherz+y=xorx=y
What is the value of &, if 7
bk biec b +c
bk c+a o +al=ja-b)(b-clic—a)?
b oa+h a+hk
(a) 1 (by -1
c)y 2 (dy 0
Which one of the following is correct in respect of the matrix
0o 0o -1
A=0 -1 0|7
-1 0 0 73
(a) A'doesnotexist (b)) A=(-1)J
(c) A1saunit matrix (d) Ar=1
. 3 2]
Itf A= | 4 » then what 15 A (adj A) equal to 7
0 10] 0 0
@ 110 o] ® 1o 10
I 10] 10 1
74
() [m 1] (d) [I m}
001
What is the inverse of [0 1 07
1 0 0
75.
1 00 001
(a) 010 (b) o1 0
1o 01 |1 00
-1 0 1 00 -1
(©) o -1 0 (d) 0 -1 0
Lo 0 -l -1 0 0

that A8 = BA 70,
There exists exactly one B such that 48 = 54

There exist infinitely many 8°s such that A8 = B4

There cannot exist any 8 such that A8 = 84

Consider the following statements in respect of symmetric
matrices 4 and 8

I. A8 symmetric.

2 AT+ B is symmetric.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

{c) Bothland2 (d) Meither 1 nor 2

The following item consists of two statements, one labelled
the Assertion (d) and the other labelled the Reason (R).
You are to examine these two statements carefully and
decide if the Assertion (4) and Reason (R) are individually
true and if so, whether the reason is a correct explanation
of the Assertion. Select your answer using the codes given
below

5 10

4 8 i| 15 invertble.

Assertion{A): M =[
Reason (R) : M 1s singular.

(2) Both A and R are true and R 15 the correct explanation
of A

Both A and R are true but R s not the correct explanation
of A

(c)  Ais true but R s false

i(d) A is false but R 15 true

i(b)

If X and Y are the matrices of order 2 = 2 each and

13

=T 0 9
2X-3¥= and 3X +2¥ =
7 -13 4 13

:|1 then what

15 Y equal to?

13 13
@) [—2 |] (b) [2 1}
[3 2] [3 2]
© | s @ |y ]

Ifa, b, ¢, are non-zero real numbers and

[M+a 1 1]
1 1+b6 1
1 1

=0

1

l+¢

1 1 1,
then what 15 the value of —+—+-=7
a b ¢

fa) 2 by 1

ey -1 idy 0

If a matrix 4 is symmetric as well as anti-symmetric, then
which one of the following is correct? ) )
(a) Aisadiagonal matrix (b)) A15anull matrix

(c) Ai1saunit matrix (d) A1satnangular matrix

1 -2 -3
If 4=|2 1 =2 then which one of the following is
3 2 1

correct?

{a) A 1ssymmetric matrix

(b) A 1santi- symmetric matrix
{c) A 1ssingular matrix

(d) A 1snon-singular matrix
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T,

T8

al.

correct?

(a) A1ssymmetric matrix

(b) 41sant- symmetric matrix
(¢} Aissingular matrix

(d) A i1snon-singular matrix

2a Ir «x a r X
A=4b 65 2y|=i|b 5 y|, then what is the value
-2 -3t -z c =z
of L7
(a) 12 by -I12
(cy 7 dy -7
1-i w —n
What is the value of | © +1i @ —i |.where w
1-2i-0’ o'-0 i-o
15 the cube root of unity?
(a) -1 by 1
(c) 2 idy 0

wm 0
If 4= [U } where w 15 cube root of unity, then what 15
0

A"™ equal to?
(@) A (b) —A
(c)  Null matnx (d) Identity matrix

A matrix X has (a+ b)rows and (g + 2) columns; and a matrix
Yhas (b + 1) rows and (@ + 3) columns. If both XV and ¥X
exist, then what are the values of a, b respectively?

(a) 32 iby 23
{c) 2.4 (dy 4.3
a b ¢
I m n|_ . . .
If =2, then what 15 the value of the determinant
P g r
ba 3b l5c
2 m 5n|?
Ip g 5
{a) 10 (b) 20
(c) 40 (d)y &0
5 6 1
LetA=|, -1 s/l Let there exist a matrix 8 such that
35 49
AB = 29 13! What is 8 equal to?
(5 1 4 2 6 3
@ 12 6 3 ® 15 1 4
[5 2 [2 5
© |'° @ |©!
|4 3 13 4

82,

0.

Consider the following statements

1. If A"= A:then 4 1s a singular matrix, where A’ 1sthe
transpose of A,

2 If 4 isasquare matrix such that 4° =J, then A is
non-singular,

Which of the statements given above is/are correct?

{b) 2only

(d) Meither 1 nor 2

{a) 1 only
(c) Bothland2

Ifthe system of equations 2x + 3y =T and 2ax +{a + b)y=28
has infinitely many solutions, then which one of the following
15 correct?

(a) a=2h (by h=2a

(¢} a=-28 (dy h=-2a

Ifthe lines 3y +4dx=1, y=x+ 5 and 5y + bx =3 are concurrent,
then what is the value of 5?7

(a) 1 ib)y 3
(c) 6 idy 0
What 15 the value of
cosl5®  sinl5®| |eosd5®  cosls®
= [
cosd5®  sind5® [sind5°  sinl5®
| &
(a) 3 (b) 5
1 d 3
ch 1 (d) 3
Let A be an n = nmatnix. Ifdet (3.4)= A* det (A), what is the
value of 57
(a) 0 ib) 1
ey -1 (dy m

If A be a real skew- symmetric matrix of order n such that
A2+ 1=0,1being the identity matrix of the same order as that
of A, then what 15 the order of A7

(a) 3 (b) Odd

() Primenumber (d) Ewen

1 2
Letd= [3 4] = [GJ-J- :I where i, j =1, 2, Ifits inverse matrix

15 [b,-,-], what is b5, 7

(a) 2 by 1
3
c) 3 dy - 3
1 -3 2
2 B 5. . . )
If 15 not an invertible matrix, then what 15 the
4 2 A
value of 1.7
(a) -1 {b)y 0
e} 1 (dy 2

01 i 0 0 —i
iFd= L B= 1.c=| .
-1 0 0 —i —-i 0

then which one of the following is not correct”?
(a) A2=8° (b) B*=(*
{c) AB=C (d) AB=BA
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91.

93,

94,

08,

6 -3 1

Ifx+iv=(4 3i -l, then what isx — iy equal to?
20 3 i

(@) 3+i (b 1+3i

() 3 (dy 0O

If |4| = 8, where A is square matrix of order 3, then what is
|ad) 4| equal to?

{a) lé by 24

(c) o4 (dy 512

Consider the following statements in respect of a square
matrix 4 and its transpose 4 T

L A+ ATis always symmetric.

2 A-ATis always anti-symmetric

Which of the statements given above 15/are correct?
{a) 1 only (b} 2 only

(¢} Bothland2 (d) Neither 1 nor 2

If'a matrix 4 is such that
343 +24% 54+ 1=0,
Then what is 4! equal to?
(a) —(342+24+5) (b) 34%2+24+51
(¢) 342-24-51 (d) (342+24-5])
Let A and B be matrices of order 3 = 3. If 48 =0, then which
of the following can be concluded?
(a) A=0and B=0 (b) |4|=0and|B=0
(c) Either 4|=00or|8|=0 (d) EntherA=0or&=0
If 4 15 a square matrix, then what 15 ad) 4 r_ {adf A ]T equal
to?
(a) 24|
(c) MNull Matrix
What is the value of

(by 24|f
(dy  Unit Matrix

I o 2w
2 Zt::2 4:::3

¥

3 3(!:3 6014

where @ 15 the cube root of umity?

{a) 0 by 1
) 2 (dy 3
If the matrix
21-x 1
1= 1 i—-x 0
T

15 singular, then what 15 the solution set §7

(a) 5=10,2,3} by §={-1,2,3}

) 5={1.2,3} d) 5=4{23}

Consider the following statements.

I Thenverse of a square matrix, if it exists, 15 unique.

I If4 and 8 are singular matrices of order n, then A8 15
alsoa singular matrix of order n.

Which of the statements given above is/are correct?
{a) Onlyl (b) Onlyll
{c) BothlandIl (d) Meither [ nor 1

100. What 1s the value of the determinant

x+1 x+2 x+4
x+3 x+5 x+8\|7

x+7 x+10 x+14

101

102

103.

105.

(@) x+2 (b) x*+2
(e} 2 dy -2
If 5 and 7 are the roots of the equation
x 4 5
T 7 0, then what 15 the third root?
5 8 x
(a) —12 by 9
(c) 13 dy 14

Find the value of k in which the system of equations
fx + 2y =75 and 3x + v =1 has no solution?

{a) 0 (b) 3

c) 6 id) 15

Ifthe matrix

is such that 42 = I, then which one of the following is correct?

{a) a=0,f=lora=1 =0
by a=0p#loa=l, =1
) a=1p=00ra=l, p=1
(d)y w=0F=0

a 0 1 O
IfA= 1] and B = 21

such that 4% = B, then what 15 the value of a?

fa) -1 ib) 1
c) 2 d) 4
31 1 1
A= |:'[] 4] and 8 = |:[} 2i|._ then which of the
following is/are correct?
L AR5 defined . B4 isdefined

oL AB=84

Select the correct answer using the codes given below.

(a) Onlyl (b) Onlyll

{c) BothlandlIl (d)y I IlandIIl

The simultaneous equations 3x + 5y =T and 6x + 10y =18
have

(a) no solution

(b) infinitely many solutions

(c) umgue solution

{d) any finite number of solutions

x oo

The roots of the equation B x 1l=0 are independent of
B oy 1

(a) a by B

i v id) o fandy

What 15 the value of the determinant

a—-b b+c a

b—c c+a bu

c—a a+h ¢

(a) a*+b +e3 ib) 3be
(€) ad+b+2-3abe  (d) O
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109.

110,

111

114

116

117

p —q 0

If [0 p g|=0, then which one of the following is
g 0 p

correct?

{a) pisone of the cube roots of unity
(b} g 1s one of the cube roots of unity
£ is one of the cube roots of unity

c)

(d) MNone of the above

l+a 1 1
Ifal+b5 1+ e 1=0suchthat | 1 I+6 1 | =3
1 1 l1+¢

then what 15 A equal to?

(a) —abc (b) abc

{c) O dy 1

Consider the following statements in respect of the square

matrices A and B of same order:

. 4 and B are
cither [4|=00or |B| =0

2 AB=0=Ad=0or B=0

Which of the above statements is/are correct?

{a) 1 only (by 2 only

(c) Bothland2 (d) Meither 1 nor 2

For what value of x does

non-zero and A8 = 0 —

i
(13 2)

1 3 0y 0
30 23]
20

| =(0) hold?
1 .1'_‘_'

\

by 1
(d)y —9%8

(a) —1
(c) 9%

. Consider the following statements:

I, everyzero matrix is a Square matrix.

2. A matnix has a numerncal value.

3 Aoumit matrixis a diagonal matrix.

Which of the above statements 15/are correct?

{a) 2only (b} 3only

{c) 2and3 (d) land3

If a matrix A has inverses B and C, then which one of the
following 1s correct?

(a) B maynot be equal to C

(b) B should be equal to C

() B and C should be unit matrices
(d) MNone of the above
(1 3 1o
IfA= ['..2 3) and B= [] {]J then what 15 determinant of
ARB?
{a) O by 1
(c) 10 (d)y 20
—az ab ac
2
o -b~
What 15 . |equal to?
ac be -
(a) 4abe (b) 4da’be

(c) 4a%b?e? (dy — dabie?

Acand B are two matrices such that AB= A and BA =B then
what is B? equal to?

fa) B

(c)y I

whereI 15 the identity matrix

by A
dy -1

118. The sum and product of matrices A and B exist. Which of the
following implications are necessarily true?
1. AandB are square matrices of same order.
2 A and B are non-singular matrices
Select the correct answer using the code given below:
(a) 1 only (b} 2only
(c) Bothland2 (d) MNeither 1 nor 2
119. If A is a square matrix such that A2 = I where 1 is the identity
matrix, then what is A1 equal to?
(a) A+l (b)  MNull matrix
{c) A {d) Transpose of A
120, If two rows of a determinant are identical, then what is the
value of the determinant?
{a) 0 by 1
) -1 (d) can be any real value
8 51
121. 1f 7 X 1=2 then what is the value of x?
6 3 1
fa) 4 by 5
{c) 6 (d) %
122, What is the order of the product
a h g|lx
[x v z]|h b fy]|,
g I cell=z :
(a) 3=1 (b) 1=1
e} 13 (d) 3=3
i [ 2 [ )
123 If A=| ! I:| and B =|:] 2 ] . then what is B' A~ equal
to?
[1 -3 -1 3
@ 1_; a2 :| ib) [ 1 _2]
[-1 3 -1 3
<) | -1 _2:| (d) [ 1 _2:|
1 (d) 25 (b) 49 (a) 73 (c) 97 (@)
2 fc) | 26 | (e) | S0 [ (c) | T4 | (b) | 98 | (a)
3 (a) | 27 | (dy | 51 (c) I5 | d)y | 99 | (a)
4 | (dy | 28 ) () [ 52 | (a) | 76 | (b} | 100 | (d)
5 (b) 29 | (b) 53 (k) 77 | d) | 101 | (a)
& (c) 30 | (by | 54 (a) TE | (a) | 102 | (c)
7 fc) | 31 Jiby ] 55 | qay | 79| by | 103 ] (a)
8 (d) 32 | (d) 56 | (d) 8O | (d) | 104 | (b)
9 (a) 33 ic) 37 (c) 2l () | 105 | (d)
10 (c) 34 | (e 58 | (b) 82 | (b) | 106 | (a)
11 (<) 35 (c) 39 | (b) 83 | (b) | 107 | (a)
12 (d) 36 | (b) o0 (a) 534 ic) 10E | (<)
13 () 37 (<) 6l () 85 (c) | 109 ] (c)
14 (c) 38 | (k) 62 (c) 86 | id) | 110 ] (b)
15 (a) 39 (c) 63 (c) 87 (a) 111 (a)
16 | (b) 40 | (b o4 (d) S8 | (dy | 112 | (d)
17 | (d) 41 (a) 65 | (b) BO fe) ) 113 | (b)
18 (c) 42 | (b b6 (a) S0 | qdy | 114 | (b)
19 (c) 43 | by 67 (d) 91 () | 115 | (a)
20 | (b) 44 | (c) 68 | (b) 92 (c) | 116 | (c)
21 (@) | 45 | qd)y | 69 | by | 93 [ (c) | 117 ] (a)
22 | @ | 46 | (b) | 70 | ib) | 94 | (a) | 118 ]| (a)
23 (c) 47 ic) 71 (d) 95 | (d) 119 ] ich
24 (c) 48 (3] 72 (c) 96 | (c) | 120 ] (a)
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